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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt of this question paper.
2. Answer any five question.

3. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (@) How can goods be classified on the basis of the degree of indivisibility and
the number of people consuming th good. (7.5)

(i) How can certain goods be classified as Mixed goods on the basis of services
that stem from the provision of the good. Explain with an example. (7.5)

(i) P & TR S ST A wEm B FTAR TG w1 TR0l fhe THR Bre
27

PTO.



7372 2

2.

(i) TR aeg & TAUE A Foo A1 D WUR | I Al verd v g afita fean
W 27 IAET B FY GHAEYN

() Explain a method of determining the optional provision of goods, which are
not rival in consumption, below the congestion level (10)

(i) How can a public good be provided through voluntary cooperation (5)

(i) 7ol & i gEum 3 [ T e safte W o Rl ¥ oof gwim
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A Chemicals producer dumps toxic waste into a river. The waste reduces the fish
population reducing profits for the local fishery industry by $150,000. The firm
could eliminate the waste at a cost of $100,000 per year. The local fishing

industry consists of many small firms.

() Apply the Coase theorem to explain how costless bargaining will lead t0
socially efficient outcome, no matter to whom property rights are assigned

(6)

(i) Verify the Coase theorem if the cost of eliminating the waste is doubled to
$200,000 with the benefit of the fishing industry unchanged at $150,000.

(5)
(i) Why might the bargaining not be costless 4)
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(ii)

(i)
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4. (i) How can we use compensated demand curves to measure deadweight loss

(i1)

(i)

(10)

Explain the effect of an increase in the compensated elasticity of demand on
deadweight loss. (5)

&4 fAdia B @ srere & forg wigRa Wi o =1 T R gER o w87

yfaRa i & @ A gfe & Faia ot ® e g

What should be the objective of labour unions? )

Show diagrammatically the equilibrium when there is Monopsony in the labour

market (5)
Derive the inverse pricing rule. (5)
i G & 2 w1 B ARy ?
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Show diagrammatically how the evasion decision in affected by

(a) Increase in detection probability C))

(b) Tax rate increase 4)

Set up the audit game and find the equilibrium pay off of the players i.c. the

tax payer and audit authority. (7
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7. (1) How does GST satisfy Fiscal Autonomy and Harmonization (7.5)
(i) Briefly discuss with diagram a Matching Open ended grant (7.5)

(i) =g v& = IR e R T waeE AR e @ SRR @ g
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8. () How does the Fourteenth Finance Commission approach vertical and

Horizontal imbalances. (7.5)
(1)) Briefly discuss the main option for the VAT assignments (7.5)
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